Puissances de Dix (G)

Trouvez chaque produit ou quotient.

2,59 - 10 = 9,7496 x 10 =
3,0891 x 1000 = 3,2507 x 1 000 =
7,5 +100 = 1,15 x 10 =
4,5x 10 = 7,6 -10 =

9,9 X100 = 6,8879 x 100 =
4,4 +1000= 7,35 x 100 =
9,46 x 1000 = 1,51 x 100 =
5+1000= 9,57 +-1000 =
3x10= 2,93 x1000=
3,63 x 100 = 8,2+100 =

MathsLibres.Com




Puissances de Dix (G) Solutions

Trouvez chaque produit ou quotient.

2,59 +-10=0,259 9,7496 X 10 = 97,496
3,0891 x1000=3089,1 3,2507 x 1000 = 3 250,7
7,5-+100=0,075 1,15x10=11,5

4,5x 10=145 7,6 -10=0,76

9,9 X100 =990 6,8879 X 100 = 688,79
4,4 +1000=0,0044 7,35 x 100 =735

9,46 x 1000 =9 460 1,51 x 100 =151
5-+1000=0,005 9,57 - 1000 =0,00957
3x10=30 2,93 x1000=2930
3,63 X100 =363 8,2 +100=0,082
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